by

. 4

2

|

CLOPAY MODEL 902
IDEAL MODEL C2AL

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO' SUIT)

UP TO 24'-2* WIDE X 18°-0" HIGH

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIOMAL BUILDING CODE BUT DOES MOT MWEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

REGIONS (FEC / IBC CHAPTER 16).

CENTER AMD 174" TACK
WELD TOE OF ANGLE AT

12 GA. GALV. REVERSE
OR CONTINUQUS ANGLE
MOUNT TRACK FASTENED

REVISIONS

REV. NO.

ZOME:

DATE: ECN NO.

APPYD:

DESCRIPTION

Q6

08,2016 =

REMOVED WIND SPEED TABLE.

DOOR IS MADE

OF BDB3-TS ALUMINUM EXTRUSIONS.

WALL THICKMNESS!

TOP & BOTTOM RAILS
INTER,
TOP HAS
INTER, TOP RAIL

A ox 1,875 FIN

TOP & BOTTOM RAILS —.075

T0 BE 1/8" DSB GLASS
SNAP—IN GLAZING BEAD.

SECTION 2 - 2

FULL-WISION SECTIONS —

—

I

37 TALL = 20 GA, GALV. STEEL (MIN YIELD STRENGTH
S50KSI) U-BAR., ONE AT THE TOP OF EACH SECTION EACH
U—BAR ATTACHED WITH {2} 1/4"x3/4" SELF TAPPING
SCREWS PER STILE LOCATION.

12 GA. GALY. STEEL TOP ROLLER BRACKET. EACH BRACKET
ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS.
ADJUSTABLE SLIDE ATTACHED TO TOP BRACKET WITH QTY
{2} 1/4" % 1/2" BOLTS & NUTS PER BRACKET. TWO

BRACKETS PER SIDE

FOR PLACEMENT.

SEE WIEW "E".

DOUBLE END ROLLER
HINGES OF 14 GA MIN
GALV STEEL, FASTEMNED AS
SHOWM 1N VIEW A,

OME 8" TALL, 16 GA. C—CHANMEL
PER DOOR SECTIOM. (1)
1/4"e3/4" SELF TAPPING SCREW
PER END STILE AND BACKER
PLATE LOCATION. (SEE WIEW "D")

STRAPS ATTACHED WITH (3) 1,/4" X3/4" SELF
TAPPING SCREWS (TWO SCREWS TO DOOR, ONE

SCREW TO C-CHANMEL). SEE REAR ELEVATION

6"%2—1,/4"%12 GA. GALV. STEEL PLATE.

J1445,/8° SHEET METAL
SCREWS OTY (&) ALONG

NTEE OF EACH HINGE
o\ (A e
DOUBLE

1;4'13;4 SELF TRPPING
SCREWS. QTY. (2] ALONG
CORNERS OF EACH HINGE

Wi A

REINFORCING FIN OM INTER. TOP

RAILS ANGLE CUT AT END STILES

SECTIDN 4 - 4

2,000 PSI MM
CONCRETE

3787 DA, x 11,27

BOLT. WASHER INCL'D.
117 WA, 0.C.
O SECURE 2x6 JAMB
TO CONCRETE

C'SINK F NEEDED.

4H'TINUDUS ANGLE

MOUNT TRACK FASTENED
TO 2x6 §2 OR BETTER
YELLOW PINE JAMB WITH
ONE 5/16™x1-5/8" LG.
LAG SCREW PER BRACKET
OR TRACK CLP LOCATION.

MIN., EMBED SLEEVE ANCHOR

I
I
1
1
1
1
[
1
1
i
I
I
1
1
1
|
1
|
1
:
]
1
1
[
i
I
I
I
I
]
1

2,000 PSI MIN
CONCRETE

14 =12"
MIN, EMBED TAPCON
CONCRETE FASTENER.

REVERSE OR CONTINUGUS

ANGLE NOUNT TRACK
FASTENED DRECTLY
TO COMCRETE.

BOTTOM SECTION REINFORCED WiTH A TEMPERED
ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR
FLEXIBLE WiNYL ASTRAGAL

AP ————
. SINGLE & DOUBLE END STILES .075
3" GALV. TAPERED STEEL TRACK AN ANGLE, U-BAR SEE SECTION
TRACK THICKNESS: 101" ANGLE THICKNESS: 080" 1-1 FOR DETALS \ CENTER STILES 062
VERTICAL M HORIZONTAL TRACK 14" MAXIMUM SPACING - =
= JUMCTION, TWO 1,4 BOLTS FROM LAST WOUNTING
& | & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION st C—CHANNEL SEE SECTION
I \ 1-1 FOR DETAILS
g ADDITIONAL WOUNTING SLOTS REQUIRED FOR CDOORS
"0 - ADJUSTABLE — ||
g 1! OVER 7'0° HIGH SPACED AT 12° CENTERS. | s . , “ i “\ ™ N
— TOP ROLLER
" TRACK CONFIGURATION ~ TOF_ROLLER
z ONE %" TRACK BOLT AND NUT : = = " == - o
E, T AT EACH MOUNTING SLOT
> LOCATION. oy ., Y . N 2 2 ™
R DOOR A \1 4 HELD' IN PLACE WITH
b an, m
=] HEIGHT | "L NOTE: TRACK o — > - . .
= = CONFIGURATION MAX. HEIGHT:
H 8 -0 | 88 ABOVE THE DOOR 180" S S F
. [97=0"[100"| oPENNG DOES WO POINT RS i B 3 % \ N\,
EVERY 12 10 -0"[112" NOT AFFECT THE LOCKING — T
l o 7| WIND LOAD RATING REQ'D
JI ) 12 —0"1136"] oF THIS DOOR. ' £ . =
19 14 -0"[160
|7. 15,“‘0“ 1??| I
Ly [16-07184" 4] | C=] 4 —— g STRAPS PER SECTION
17 —0[196" = : F 3 L
s = 3" ROLLER CARRIER 1 5, e f 4
18 -01208 PART # 0120394, (3) I 2= Tvel—1 1 3) CENTER HINGES PER SICTION
MUUHE Sy i o 2472 MY DODR WiDTH
— [NUMEER OF SELF ORILLING SCREWS ‘{-N TE:
DOOR HEIGHT °A AS SHOWN OTE:
SECTIONS CENTER STILES ALWAYS 22° PANEL IN BOTTOM SECTION
uP 10 8'-0" 4 FROM CENTER TO CENTER. CAN BE .050" THICK SMOOTH
6'-3" THRU 10°-0° 5 FOR ANT GIVEN DOOR AT THE CENTER OF EACH C-—CHANNEL ALUMINLIM,
'-37 THRU 12°-0° 6 WIDTH, DIMENSION ‘8" 1S ATTACH THREE 6"x2-1,/4"12 GA. STEEL
12"-3* THRU 14°-0° 7 THE LEFTOVER DIMENSION PLATE TQ THE UNDERSIDE OF THE THE
147-3" THRU 16°-07 8 ON B0TH SIDES OF THE C—CHANNEL WITH (4) 1/4™%3/4" SELF
16°-3* THRU 18'-0° 9 DOOR. THE MAXIMUM TAPPING SCREWS,
A" TESTED FULL WISION PAMEL VIEW E”
MAX. SECTION HEIGHT: 24 Lt daiiory
END STILES FASTENED TO &
(5
CENTER STILES FASTENED TO RAILS E?[E? ST"IIETEHL Fg”.'jﬁs LEMETH
e iR e — WITH FULL LENGTH S/16* STEEL FLANGE NUTS 2-1/2"
STEEL JAMB FILLED WITH EDDERND: FEAEE e OR-LOVLY CENTER HINGES ON
CONCRETE, BUT EVERY OTHER STILE STARTING
NOT REQUIRED. WITH CENTER OF DOOR. VIEW ° n—'J - s/8" (ve)
Bt 6 TALL C—CHANMEL
1/8"1" LONG COR-LOVLY CEMTER HINGE OF 16 GA. GALW. 16 GA. GALY. STEEL
FILLET WELD (E60¥X STEEL, ATTACHED TO INTER. BOTTOM RAIL MIN YIELD STRENGTH 5OKSI
ELECTRODE MIN.). WELD WITH {2) #14 x 5/8° SHT MTL SCREWS AND 3° STEEL LONG
TO BE LOCATED VERTICALLY STEEL JAMAS TWO INTER. TOP RAIL WITH €23 /4 - 20 = PUSH NUT STEM ROLLER
y 1/2" HEX HEAD MACHINE SCREWS & NUTS

WITH

MOT

3/16° MIN. STEEL
JAME

- 1,/47x3,/4" LG.
MAY BE BACK-FILLED e That
CONCRETE, BUT o i
SELF TAPPING e, 16" WAX. 0.C.
E 10 SECURE
ANGLE TO
STEEL JAME.

REVERSE OR CONTINUOUS
ANGLE WOUNT TRACK
FASTENED DIRECTLY

TO STEEL JAMB,

SAME SPACING.
DIRECTLY TO STEEL JAME
™ MB ON CONCRET CONCRETE JAMBS SECTION § — 5 STEEL JAMBS WOOD JAMES

358" x 1-1,2 MIN.
/— EMBED LAG
SCREW, WASHER

Q.C. TO SECURE
2x6 WOOD JaMB
TO WoOD

REQ'D, 207 MAX,

STRUCTURE.
1-1,/8" DA, WASHER REQ'D.

C'SINK, IF NEEDED.

CONTINUDUS ANGLE
MOUNT TRACK
FASTENED TO 2X6 §2
Of BETTER YELLOW
PINE JAMB 'WITH ONE
5/167K1 =5,/BULGLAG
SCREW PER

TRACH CLIF
LOCATION.

CLOPAY CORP,

ALL RIGHTS RESERVED.

THE DESIGN OF THE

SUPFORTMG STRUCTURAL
ELEMENTS IS THE RESPONSIBIUTY
OF THE BUALDING ENGINEER OR
ARCHITECT OF RECORD,

DESIGN EMGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. §48495, NC P.E. §23832, TEXAS PE. §91513
DESIGN LOWDS: +25 &
TEST LOWDS

-2% P.5SF.

+37.5 & -37.5 P.5F.

BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
FASTENED WITH (4) #14 X 5/8" SHT MTL SCREWS

o
ANUFAC IJEJNG FR’{IDUCT CEIDE

MPC: c»aLﬂ1r49§

Yha gy

Unless Stoled Olherwise

TOLERANCES ere

b= .03

00 = +.015
000 = £.005
0000 = .00
Degrees = £1/2

Third Angle
Projeclion

Unless Stoled Otherwise
DIMENSIONS ARE IM INCHES.

o= Clopay

Building Producis Compony

8585 Duke Enule-.-urd
Mason, OH 45040 U

Tel. Mo. 513-770- 4BEIU
Fox Mo. 513-770-4853

CLOPAY ‘WINDL OAD RATING

W4

DESCRIPTION: M/N 902, C2AL, 24'2" WIDE

DES. +25/-25 PSF

DRAWN BY: BFA DATE: 11/30/04SCALE: NONE  [pwe.
CHECKED BY: - DATE: - SHEET 1 OF 1 [SIZE
DWG. NO.: 103332 VER: DI

£

2



